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Q6. is the synonym of "ETHNIC".

A. Cultural B. Hereditary
C. Religious D. Modern
Q7. is the antonym of "TUMULTUOQUS".

A. Glamorous B. Blunder
C. Peaceful D. Chaos

Q8. Identify the meaning of the idiom in the sentence.
"You will have to pull yourself together."

A. To calm down and behave normally B. To pack your bags

C. To run away D. To stand up

Q9. Sentence given below may contain one or more mistakes. Identify the correct sentence.
"You has to be at my place on 10:00 am."

A. You have to be at my place at 10:00 am. B. You has to be on my place at 10:00 am.

C. You have to be at my place on 10:00 am. D. You has to be at my place at 10:00 am.

Q10. Complete the sentence by choosing the correct form of verb from the following.

All the birds have been (fly) together.
A. fly B. flew
C. flown D. flying

Q11. Who is the former Indian cricketer who has been recently appointed as the new coach of
Indian women's cricket team?

A. V. B. Chandrasekhar B. Manoj Prabhakar
C. W. V. Raman D. Sanjay Bangar
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Q11. o wrefrr forehet &1 & e w1t & & sl i forehe & & T b & &9 § foges o mam 272

A. 1. o, TeEr B. Haitsl TR
C. ssog, dl. WA D. Holg 91913

Q12. Who was the last Governor General of India before India became a Republic?

A. Shri Vallabhbhai Patel B. Shri Rajendra Prasad
C. Lord Mountbatten D. Shri C Rajagopalachari

Q12. ra 3 o ST § TEST YRA T SIRIT T S B o1?

A. T TeTHITS g B. Y Tstegl 941G
C. s Acded D. &t &Y TerenaTeTany
Q13. Activists of the Chipko Movement to prevent felling of trees.

o8]

A. Stick warning posters to the trees . Tie dogs to the trees

C. Stick thorn branches around the trees D. Form a circle around the trees
Q13. i ot et =1 Ush 3 forw Fermant @idiem ECapET

A. ST T B ATae e B. 9T T il T a1

C. USh & aRT 3R FHrelr Ar@e Ko & D. 98t & IRT 3R Teh BT Fall of

Q14. Which Indian film actor is the current ambassador of the "Incredible! India" Campaign?

A. Shri Amitabh Bachchan B. Shri Aamir Khan
C. Mrs Priyanka Chopra Jonas D. None

Q4. = wr wredtar e sifiriar " srqed | v (sshfearal dfean)"” sifirar w1 adam Tseq 87

A. #t 3fFEATH STueT B. &Y 3nfR @1
C. e e agsT S D. &S AT
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Q15. Where is the historical battle ground Kala Amb situated in Haryana?

A. Mahendargarh B. Kurukshetra
C. Panipat D. Sonipat
Q15. =femom # feor Wfererires g fam e o el 87

A. AggIG B. el

C. greiad D. ®ieiad

Q16. The glory and strength of which of the following cities of Haryana was discussed in the
book written by Chinese traveller Hiuen-Tsang?

A. Panipat B. Thanesar
C. Mahendragarh D. Kurukshetra

Q1L6. =i+ft =it R-egi grar forelt T e 3 BRETO 3 for SRT ST AfEAT S it 0=t o oft?

A. drid B. 4T

C. AgsIe D. FeaTd
Q17. Razia Sultan was killed in district of Haryana.
A. Panipat B. Kaithal

C. Sonipat D. Bhiwani
QL7. tfam geam 1 gen, sfemon % et o o1 7€ oft

A. 9riTTd B. e

C. ®ieiad D. farir

Q18. The Haryana cabinet Minister who is incharge of Tourism is

A. Shri Manohar Lal Khattar B. Shri Ram Bilas Sharma
C. Captain Abhimanyu D. Shri Narbir Singh
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Q18. i & Ffeme w5t St q2ieT % T i
A. # AAER ol Weex B. &t I fema emm
C. e Ay D. &Y IR T

Q19. The largest mandi of the country is being set up over 600 acres in

A. Meham B. Tohana
C. Hansi D. Gannaur
Q19. 2w i wadt w1t vt 600 wehe # T Tfya &7 5 &R
A. 789 B. SgT

C. g D. ek

Q20. Which of the following is NOT a feature of the recently announced Haryana Chatra
Parivahan Suraksha Yojana 2018-2019?

A. Ensuring and increasing safety of women B. Free traveling facility

C. Merging educational institutions so that safety = D. Applicable for all school and college students
can be assured

Q20. frferae & & = it &ret € ¥ Sfa gfEmom sraw uiere gea JsEr 2018-2019 s fersrar w27
A. A3 T greT Giared Heer AR serer B. W I I i

C. TRI&T0T HEATAT T ST cAifeh GR&T T IMRAMA a1 D. T Tohot 3R FHlelet & oA o fAT oAy
ST &

Q21. Lakshay Sheoran, Haryana's teenage sportsman from Jind, won a silver medal in at
the 2018 Asian Games.

A. 800 metres B. Trap shooting

C. Discuss throw D. Javelin throw
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Q21. zfwmm ¥ Sfiz 3 ek faemet e W@ 3 2018 wfvrr get § 1o e S
A. 800 #rex B. gu efdar
C. Brpa oar D. 8TelT theh

Q22. Department of Industrial Policy and Promotion (DIPP), part of the Ministry of Commerce
and Industry, in collaboration with the World Bank released the final rankings of states
and Union Territories in Ease of Doing Business (EODB). Haryana is ranked

A. First B. Second

C. Third D. Fifth

Q22. sivefires ife siit garef faramr(DIPP) it 6 anforear 3fit seiv darers o feean 2, aee S 3 gewifiar & sram
%I gestar (EODB)# wrsat ofit Fix wifta wewtt o sifw i s A 2 sfmmom sy wmfeammn

A. ggeT B. gax

C. D. graat

Q23. The __ dance is performed during the month of Phalgun by farmers.

A. Loor B. Phag

C. Daph D. Dhamal

Q23._ qeu T % Wl  fopwmt grer o s R

A. T B. BT

C. 3% D. er&TeT

Q24. is a bow instrument, used both in Haryana's folk and classical music.

A. Bansuri B. Ektara

C. Been D. Sarangi

Q24. T N 3 R, Toreeht Suai i o efte S sl w7 o s 2

A. SIgl B. TehdRT

C.d= D. #a
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Q25. Which Indian composer and playback singer became famous for the song "Tune mere

jaana"?
A. Deepchand Nirmohi B. Gajendra Verma
C. Vishnudatt Kaviratna D. Om Prakash Aditya

Q25. 3 a1 wreelter @it i ardrreh, a3 ST T % fore it & mr?

A. Queie REfEr B. 15ig gAT
C. fasues sfaee D. 311 Yehrer Mg

Q26. Which cartoonist drew cartoons on the Kargil war?

A. Paresh Nath B. Sudhir Dar
C. Shekar Gurera D. Mario Miranda

Q26. fopm wréfre T FRAT Ig T HIET sHmM@T?
A. IR AT B. gUR 3R
C. I [ D. AR fAisT

Q27. Which of the following is NOT an objective of the Haryana Urdu Akademy?

A. Promote and propagate Urdu language in B. Publish and familiarize the literary contributions
Haryana. of Urdu writers.

C. Render financial aid for publishing the books of D. Publish manuscripts & books of Urdu literature
Indian writers. penned down by the writers of Haryana.

Q27. it & i, ghamn 3¢ srhrarft 1 T IR T 27
A. gRETOT & 3 7T9T T FoTaT ST IR 3H TR AT B. 3¢ AGeh! o Wifgfcden Freraii sl FehrRIeT e 3

RIS AT
C. R oI Gehl FT JEcish FehRIT oA o forw faerar D. gRATOT & or@el garT fordr I, 3¢ Arfged
HETIT JaTe L argfafiat iR qEdsht I FhTRIT |
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Q28. Which river feeds the Ottu barrage, a water reservoir in Haryana?

A. Ghaggar B. Yamuna
C. Kausalya D. Dangri

Q28. sitg S, wfEmor 1 Tk Srerrer, # fre et w1 ure S 82
A. TIIR B. T

C. splerear D. SERY

Q29. Identify the district that is not irrigated by the Western Yamuna canal.

A. Ambala B. Karnal
C. Jind D. Gurgaon

Q29. ufzrft 7w Tew gry ffera fSret =1 a9 s
A. 37FSTeT B. AT

C. Siig D. =g

Q30. Haryana state is largest in area when compared to which of the following states in India?

A. Andhra Pradesh B. Chattisgarh
C. Bihar D. Kerala

Q30. wra % frefefad wedt # & forer w7 1 gorT # gREmn w1 Skt stk 37

A. 3T FSer B. oxirele

C. foer D. el

Q31. The Yamuna river exits the Haryana state in district.

A. Karnal B. Faridabad

C. Ambala D. Yamunanagar
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Q31. 7 =t fSret # wfamon w7 & aet feperdt 2

A. eIl B. ierere
C. e D. THATR
Q32. Tosham hill range is in district of Haryana.
A. Bhiwani B. Hisar

C. Yamunanagar D. Gurgaon
Q32. drww wel sjwret, gfamm % o & &1

A. artr B. fROR

C. FHATR D. Iz

Q33. Who is equivalent to the President of India at State level?

A. Governor of State B. Prime Minister of India

C. Chief Justice of India D. Attorney General for India

Q33. 7 T TR W IR % Tl F SR B 87

A. TS & TaI9ITT B. ¥R & TTHAT
C. R & H&g =grareher D. ¥R & 37eiell STelel

Q34. The Chief Election Commissioner of India can be removed from his office only by the

A. Parliament of India B. President of India

C. Chief Justice of India D. Prime Minister of India

Q34. et % T <1 AR F I 9§ Rk ST BTN ST G 2

A. 8RR & TG B. #R & Tsgufa

C. Rd & FTT arareer D. #IRA & FeTAHA
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Q35. Narnaul is the headquarters of district in Haryana.
A. Faridabad B. Mahendargarh

C. Sonipat D. Bhiwani

Q35. Frra, =f@mm % ot =1 e 2

A. BlEETE B. FgGIG

C. gfiua D. foarelr

Q36. What is the binary equivalent for decimal number 16?

A. 10001 B. 10002
C. 10000 D. 10003

Q36. qymera (2fewer ) W 16 % forw smedt wwe m 27

A. 10001 B. 10002
C. 10000 D. 10003

Q37. With which of the following states, Haryana Government is having a dispute over the
Satluj-Yamuna Link (SYL) canal?

A. Delhi B. Punjab

C. Rajasthan D. Jammu & Kashmir

Q37. geer-awmn foiwh (wearsuer-SY L) 7w & wmwer § Feferiad & & fe T 3 w1er R S o e = e @

2?
A. feeelr B. daie
C. JsrEuT= D. STFH 3R &R

Q38. National Environmental Engineering Research Institute (NEERI) has proposed cage-free
housings in a phase-wise manner in Haryana to end which existing system in poultry

farming?
A. Use of antibiotics B. Unhygienic conditions
C. Layered battery Cages D. Improper disposal of poultry litter and waste
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Q38. Tredrer warferer Sfifafior stqee™ e (Trédemams-NEERI) 3 wff wiem & forer wisar saareen =1 @um &
fore feamon & sror-arg. ale & fiSRT-1eh 7o T SdTE W 872

A. TEETIfeE garsit &1 geT B. Az feufa
C. SgERY 9eh Ak D. 7t & %3 3R FeR T 3 fAgerT

Q39. Half byte is known as:

A. Bit B. Byte
C. Nibble D. Kilobyte

Q39. s aT3e % W H ST ST 8
A. S B. a8
C. Aeaer D. frcliaTse

Q40. Pick the odd one out.
Water melon, Guava, Mango, Papaya

A. Mango B. Water melon

C. Papaya D. Guava

Q40. TETa T == Hil

A. 3TH B. adat

C. gdiar D. 31H&E

Q41.aCb: nPo ::sUt:?

A. cDe B. wYx
C. Stu D. Tsu

Q41.aCb: nPo ::sUt:?

A. cDe B. wYx
C. Stu D. Tsu
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Q42. Look at this series: 7, 16, 25, 34, .
What number should come next?

A. 38 B. 40
C. 43 D. 49
Q42. < sjwen #1 &= @ 3@ 7, 16, 25, 34, ?

v forg % we W i o et =nfe?
A. 38 B. 40
C. 43 D. 49

Q43. In certain coding system, if "Cricket™ is coded as #T71, then "Football" is coded as:

A F@21 B. O#27
C. %L82 D. #L234

Q43. =z v =ie wmwr § Cricket =t #T71 @ smar € @ Football = == femar smom?

A. F@21 B. O#27
C. %L82 D. #L234

Q44. In a High School, of the 200 seniors, exactly 40 were in the Arts club, 60 were in the
Language club, and 10 were in both. How many students were neither in the Arts club nor
in the Language club?

A. 80 B. 110
C. 90 D. 100

Q44. w & wher # 200 it & &, 40 B et Fofd § 9, 60 0 AT For § 9, i 10 o 2H1 F 9 b we A A
AT FA H o ST A & I AT H?

A. 80 B. 110
C. 90 D. 100
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Q45. In a cricket match, a batsman hits a boundary 4 times out of 20 balls he played. What is
the probability that he did not hit a boundary?

A.1/2 B. 4/5
C. 3/4 D. 1/5

Q45. us firre A9 1, U aece ¥ 20 e et 4 =% ) =k T @ T SareT Rt 27

A.1/2 B. 4/5

C.3/4 D. 1/5

Q46. A joins two points on the circumference of a circle.
A. Tangent B. Sector

C. Radius D. Chord

Q46. v T g =t affy oe feud 21 feigat i et @

A. TR@r B. &7

C. A= D. Siar

Q47. How many bags are required to fill 1200 kilograms of rice if each bag can be filled with
24 kilogram of rice?

A. 64 B. 35
C. 50 D. 46

QA47. afz wde st § 24 el amaer s sar & @ 1200 vl amae s 3 o fraht it it st wohi?

A. 64 B. 35
C. 50 D. 46

Q48. Why does a silver tea cup have a black ebonite handle?

A. Highly fragile B. Comfortable gripping
C. Heat resistant D. Water- resistant
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Q48. =it 1 = % Hw § I 77 1 Vie Foad F1 @ & 27
A. Sge TSR B. 3RIHACTIS Jhs

C. T wfaredr D. 7ot FicRred

Q49. What is the chemical name of common salt?

A. Sodium bicarbonate B. Sodium carbonate

C. Sodium chloride D. Sodium hydroxide
QA49. gramor Fue =1 TETEIE T T 87

A. aif3aa sEeEldc B. SfsaH wrafdc

C. Q3T FARTSS D. QI3TH gBsFaSs

Q50. How many chambers are there in a human heart?

A. 4
C.2 D.1

Q50. us ure gew 1 fora et B €7

A 4
C.2 D.1

Q51. If the width of forbidden gap between valence and conduction band is very small, then the

material is
A. conductor B. insulator
C. semiconductor D. solid
Q51. afz i 3t dheee s % di il sirer 1 =gt wgd 5 At 2, @1 afoms gart 3
A. gaTelsh B. faddrges
C. 3rtares D. 38
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Q52. Which of the following is a pentavalent impurity element?

A. Boron B. Aluminum

C. Phosphorous D. Gallium
Q52. fymferfiae # & i @1 U TerwiEe STufi de 37

A. SRIeT B. TegHITIH
C. BIEGRA D. difog#

Q53. The Sl unit for Reluctance is

A A*lb A
5 Wb
% Wb
L —
T 0. 44
C.
Q53. frem¥w #1 Sl 337 2
. A*tb A
5 Wb
i Wb
L —
g D.
C.

Q54. If Input and Output junctions of a transistor are reverse biased then the region of operation
is :

A. Active B. Saturation

C. Cut off D. Inverted

Q54. ufs w zifireet % $9e 3R TeeTe S fard arRe §, 1 AT A &t 2

A. |ishg B. @qfed

C. 3id® D. H-1 fhar
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Q55. The turn on voltage of a Germanium diode is

A. 0.7V B. 0.3V
C. 0.1V D. 1V
Q55. rffram grite 1 -3 diees 2

A. 0.7V B. 0.3V
C. 0.1V D. 1V

Q56. The r.m.s value of Sinusoidal Current is

A. 0.637 Im B. 0.5 Inm
C. 1.414 I, D. 0.707 Im
Q56. grzrdizes e &1 r.m.S 7= BT 2l

A. 0.637 Im B. 0.5 Im
C. 1.414 I, D. 0.707 Im

Q57. If a forward current of PN junction diode is 26mA, then the value of dynamic resistance is

A. 0.37Q) B. 0.67()
c. 10 D. 37002
QS57. =fe PN S grite #1 e e 26MA 2, di nfeshiad s sram 2|
A. 0.370) B. 0.67()
c. 10 D. 3700)

Q58. The Important Advantage of FET over BJT is:

A. Better Thermal Stability B. Very Low Input Resistance
C. Very High Input Current D. Zero input Resistance
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Q58. BJT w FET =1 wgeagf @ 2:
A. S8R H FR2Rar B.agﬁmsﬂgtmw

C. 9gd 3%9 §Ye e W D. g=g ga19e Sfair ¥

Q59. What is the current gain of Common Emitter configuration?

e e
A. /s B. Ig
e e
c. 's D. lc

Q59. i uftrer FiferTer o waTe i gf T 27

I¢ I¢
A ‘B B. /&
e e
C Ip D. lc

Q60. What is the binary equivalent of decimal 13?

A. 1400 B. 1110
C. 0014 D. 1101

Q60. zymera 13 % srel % ae F 1 27

A. 1400 B. 1110
C. 0014 D. 1101

Q61. What is the decimal equivalent of octal 2577

A. 117 B. 175
C. 177 D. 115
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QO61. srwshr 257 % avmerd % SR T 27

A. 117 B. 175
C. 177 D. 115

Q62. What is the ASCII equivalent of letter a'?

A. 01000001 B. 01111111
C. 01100001 D. 01001001

Q62. '3" s1ew % swew ASCI| =m 272

A. 01000001 B. 01111111
C. 01100001 D. 01001001

Q63. In a transformer, the path of magnetic flux should have

A. high magnetomotive force B. low reluctance
C. low magnetic flux D. high reluctance
Q63. e giwwnit #, deh yare 1 vt T BHT =Ry

A. 3T9 gehcd Sl B. & gfdsaFsH

C. ®H Yaehid JaTg D. 3=a yfasd#H

Q64. Core losses of a transformer can be determined by

A. Closed Circuit Test B. Open Circuit Test

C. Faraday’s Test D. Litmus Test

Q64. ww giawmit =1 qEa THaH g i foram ST wehar 2

A. FrEs afde alieTor & B. 3iuet afdhe adiefor &

C. 38 & wdiefor & D. foeaw uderor &
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Q65. A transformer on no load has an induced emf of 230V(rms), draws a current of LA(rms)
and having angle between them is 83.76° then the value of core loss is

A. 15W B. 10W

C. 25W D. 20W

QB5. fartr wite arer wh g i i emf 230V (rms) 2, sit LA(rms) =1 shie @it 8 31t 39 sfter a1 i
83.76° 3| aw
I T T 7 AA BrT 2

A. 15W B. 10W

C. 25W D. 20W

Q66. An Ideal Op-amp has:

A. Infinite R; B. Zero R;
C. Infinite Ro D. Zero Ay

Q66. w et wfsrarerss yaree ¥ ar 2
A. 3o R; B. =T R

C. 3t1=d Ro D. =T A

Q67. An inverting amplifier has Rf = 20KQ and R1= 2KQ. Its Scale factor is

A. 10 B. -10

C. 103 D.-107

Q67. u srafén wmeferr &1 Re = 20KQ 3t R1= 2KQ ? | 38 Shet e =
A. 10 B. -10

C. 103 D.-107

Q68. If adc =0.99 then Bqc is .

A. 0.99 B. 99
C. 0.59 D. 59
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Q68 RIS 4. =0.99 qar ﬁdc Bl 2
A. 0.99 B. 99
C. 0.59 D. 59

Q69. What is the speed of an induction motor, when slip is zero percent?

A. Zero B. Rated Speed
C. Full load Speed D. Synchronous Speed

Q69. feeta % w1 wfoera # B9 W Searert Aiet Y et @ Er?

A. T B. fuifRa aifa
C. quT 3¢HR arfx D. Jegehlicieh Il

Q70. The speed of an induction motor will be Zero when slip is

A. 100% B. 50%
C. 25% D. 0%
Q70. g wiet i fy =1 EAft, S e Bt |

A. 100% B. 50%
C. 25% D. 0%

Q71. In Synchronous motor

A. Stator and rotor fields rotate simultaneously B. Stator will rotate and rotor will be static

C. Stator will be static and rotor will rotate D. Both Stator and Rotor are static

Q71. qewariferh Azt & |

A. TX 3R e Hies Teh A1Y god 8 B. TeX A 3R Aex &R w@am

C. T R gam 3R Aex goam D. ¥ 3R Aex gt feem
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Q72. IGCT means

A. Integrated Gate Commutated Thyristors

C. Integrated Gate Commutated Time

Q72. |GCT =1 vaeia 2
A. 3819IES I HFYeLs AIREN
C. 381Ies e F7Yees <A

Q73. In an SCR, the Holding Current is

B. Integrated Ground Commutated Thyristors
D. Integrated Gate Controlled Thyristors

B. 311 U138 HYees YIRETX
D. g&rIes 9T Sheles YARER

A. The minimum anode current to maintain the
thyristor in on state

C. The minimum cathode current to maintain the
thyristor in on state

Q73. SCR #,

A. YRIREET T =] TG & T 7ATH TaAls e
C. YrAIREX & =7 WA & AT wgeTad FAs e

B. The maximum anode current to maintain the
thyristor in on state

D. The maximum cathode current to maintain the
thyristor in on state

%I Bl i Fed Bl

B. UrARE &l ATe] W6 & T 3fehad Tals i
D. YrIRFET I =Te] WA & AT HfRhdA HUs e

Q74. For SCR to be in ON state, Which of the following relation is correct?

A. I > Iy
C.I.< Iy

B. I|_ = IH
D. I\ In=1

Q74. SCR % ey e 1 feafer #, Frfeafiaa # & 1 o1 gwary G 87

AT >y
C.I.<Iy

Q75. In an SCR, Blocking state means

B. I|_ = IH
D. ILIH = 1

A. The forward anode current of a thyristor is
reduced below its holding current

C. The forward cathode current of a thyristor is
reduced below its holding current
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B. The forward anode current of a thyristor is
increased above its holding current

D. The forward cathode current of a thyristor is
increased above its holding current
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Q75. SCR #, sifém ®e &1 Haet, |
A. ASRTE & HRAS TaAls HC Pl 5T gliesaT e d B, ABRTI F BRAS TAIS FE F 5T gliesdT aic J

Fa & T ST § or fem Sa &

C. UTSRET & BXAS HU'S FIC PI $HSF 8liesd C T D. UGRE & BIRAS HAUTS FC HI 3T& glfosd ae d
A T AT S § eT T ST &

Q76. FDMA is

A. Frequency Division Multiple Access B. Full Division Multiple Access

C. Frequency Doing Multiple Access D. Frequency Division Moving Access

Q76. FDMA =1 51 9 2|

A. shrerdT f3efteter Afeede tad B. %ol f3dieteT afeeys g

C. oIl ggaT AfeeTer v D. ey Redrorer 7fior Ty

Q77. Choose the correct compression technique used in PCM:

A. B-law B. A-law
C. D-law D. C-law

Q77. PCM # geimrer 1 i aireft e et ceier 1 wfie)

A. B-law B. A-law

C. D-law D. C-law

Q78. BPSK is

A. Binary Phase Shift Keying B. Both Phase Shift Keying

C. Bandwidth Phase Shift Keying D. Basic Phase Shift Keying

Q78. BPSK =1 qu 7 2|

A. STSeRT %ol 1o &1 B. ST %ot v &r

C. Ssfagy et Riwe &7 D. af@s %t fRAIve $r
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Q79. If the positive half interval pulse is followed by a Zero half interval pulse for transmission
of '1' then the format is

A. Polar NRZ format B. Bipolar NRZ format

C. Unipolar RZ format D. Polar RZ format

Q79. afz '1' % giwfiee ¥ oI Wiffea 8% etaet uod i S 8% Sead Ted %idl ! 8, af &
&

A. 9ok NRZ 9T&T B. sT84ieRk NRZ 919

C. Ao RZ Y& D. 9ok RZ 9T&Y

Q80. The Solid angle suspended by the hemisphere at its center is

A. T Steradians B. 27 Steradians

C. 37 Steradians D. 47 Steradians
Q80. fereft srefiver grr 3wk s # Fcifera ford 1w S whior =71 W e 7
A. 1 T3 B. 27 ¥ f3uA

C. 3 'f3Ta1 D. 47 TRF3TT

Q81. Candle Power can be defined as

A. The number of lumens emitted by the source B. The number of lumens emitted by the source

per unit solid angle. per unit angle.

C. The number of lumens emitted by the source D. The number of lumens emitted by the source
per unit time. per unit frequency.

Q81. Fea i i 3 w7 § e for < we 2

A. T8 B gart 9 $1$ oI 10T 3cafold gast 1 B. el 9 qarr ufd 5o Hior 3cafid oae T dear
e

C. Tl A @ 9 318 7T 3cafola A & d&ar  D. fandr Jia gart afd s1$ gl seafoia Fae &
parc)
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Q82. Determine the distance for a 25 c.p lamp from a normally placed screen in order that the
illumination shall be 10 lux

A. 2.58M B. 1.58M
C. 4.58M D. 3.58M

Q82. wmr=r ww & wwft 7 T & 25 C.p A % o it v fFafeor W i awfer webrer 10 o |

A. 2.58M B. 1.58M

C. 4.58M D. 3.58M

Q83. The acronym CPU stands for:

A. Central Processing Unit B. Common Processing Unit

C. Central Programming Unit D. Common Programming Unit

Q83. CPU =1 w7 2:

A. e N g B. hise WAfHT gfe

C. Heof wranfder gfae D. ST AT gfac

Q84. In open loop control system:

A. the control action depends on Size of the B. the control action depends on System variables

system

C. the control action depends on the input signal D. the control action independent of the output
Q84. sy o it fereem i

A. Ferel T RATed F PR W FIR F:ar B B. il TarleT faTesd aRuaed W AR ar g

C. &helel T So9e ffetel X A8 e g D. &elel TaleT 3M3eYC ¥ Fcid Biell &

Q85. Total Internal reflection can take place when

A. Refractive Index of core is greater than that of B. Refractive Index of core is less than that of
Cladding Cladding

C. Refractive Index of core is equal to Refractive D. Refractive Index of core is zero.
Index of Cladding
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, T T ST Taa g 2

A. R HT AT Hehich, FoATSdT & ITdcieh HYahish Pl B. H HT YT Fdhish, FoATSd & HTdcsh Faehich i

oIl & 3T BT &

Tt H A g &

C. R T I Hahih, FATSIT & Jqdcieh i & D. HI HT 3qdcieh Goahieh Yo Bl &

TS gl B

Q86. If numerical aperture of an optical fiber is 0.03 then the acceptance angle is

A. 177°
C. 0.177°

B. 17.7°
D. 1.77°

Q86. =fe foreft sitfteshet wrga =it dearersh o=t 0.03 2, a1 gaeht wispfa sior 2|

A. 177°
C. 0.177°

Q87. In an optic fiber the
angle.

A. Acceptance

C. Incident

Q87. ws siifteser wigsr &, Tehrer 1

B. 17.7°
D. 1.77°

angle of light must be equal to or less than the critical

B. Propagation

D. Refraction

IV SEh Shifcieh IV 3 SR AL ITY HA ST =112y

A. TpTa

C. 39deT

Q88. In an optical fiber,

A. refractive index

C. Stiffness
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B. 989X

D. 319dds
of cladding material is less than that of the fiber core material.

B. Strength
D. Ruggedness
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Q88. ws siificsrat wiger ¥, FATET HEIA T , BTSSR R ATt § ¥ BIaT 2|
A. 3Tac Feehieh B. &
C. FHORAT D. 3rgHAT

Q89. If the angle of incident is zero degree, then percentage of power loss when light travels
from air (n=1) and water (n=1.5) is

A. 3% B. 2%

C. 4% D. 5%

Q89. s s ey (N=L) wik T (N="L.5) & arm e 2, i Rk e or g s &, < et A iy 0 R
|

A. 3% B. 2%

C. 4% D. 5%

Q90. In a step index fiber, core index n1 =1.5 and cladding index nz =1.4 then the numerical

aperture is
A. 0.338 B. 0.438
C. 0.538 D. 0.2
Q90. =y s wrEer #, Fr 2258 Ny =1.5 ik FfET 9@ N2 =1.4, dF G 9= &
A. 0.338 B. 0.438
C. 0.538 D. 0.2
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